| Efficiency vs Dxy |

> 0.5

S dx

o
©
A O

0.35

efficiency v

o
[

0.25

......................................................................

......................................................................

5 10 15 20
TP dxy (cm)

—=— DQM_beforePR

0.5
£0.45
0.4

dz

ciency

£0.35
o
0.3
0.25
0.2

—— DQM_correctCheck

.....................................................................

e
5:ffﬁﬁfﬁiﬁﬁfﬁ%ﬁﬁ}éfﬁffﬁféﬁﬁﬁffﬁﬁfﬁgﬁ*_ﬂfffifffff
™

20 30
TP dz (cm)

10



	Contents
	Page 1


